Tutorial 8

Suppose your company is assigned a class C network address of 192.168.10.0. You want to subdivide your physical network into 4 subnets (A, B, C and D) using a router. You will need at least 25 hosts per subnet. For IP address assignment, router interfaces will always be numbered first and hosts will receive the following IP numbers.

1. What is the binary equivalent of the Class C network address 192.168.10.0 ? Show your calculations.
2. Which octet(s) or byte(s) represent the network and host portions of this network address? 
3. How many bits should you borrow from the host portion of the network address in order to provide at least 4 subnets and at least 25 hosts per subnet?
4. What is the Subnet Mask in binary form ? 
5. What is then the decimal equivalent of the subnet mask above ?
6. Fill in the table of the following sheet for each of the possible subnets that you designed from the above questions. Identify the Network Address, the Subnet Mask, the Subnetwork Address, the range of possible host IP addresses for each subnet, the broadcast address of each subnet and also indicate whether the subnet is useable or not. You will only use 4 of these subnets for your company. 
7. Assign an IP Address to router interface A, B, C and D.. 

8. Assign a host IP Address to PC1 on Subnet A and assign an IP address to Host PC2 on Subnet C. Describe the steps (using AND operation) for obtaining the subnet address of PC1 and PC2.
9. Compare the results. Are they on the same network and subnet ?

10. What will PC1 do if it is going to send a packet to PC2 ? 
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